S Foundation Worksheet \

6:07 | Surds

kName: Class:

Examples

. In Examples 2 and 3 we look for 2 perfect \\
' square, so that it can be simplified with S

<
o

Simplify.
1 Jaxﬁ 2 A/'2_é 3 4@
= J42 = J4 x A7 —4x J4x 3
=27 =4x2% A3
=8./3

1 Simplify.
a 6 x5 b J7 x A3 ¢ 5 %7 d J11 x 3
e /10 x 11 f J15 x 42 g 2 x 13 h /10 x A3
2 Simplify.
aA/_l_é b3@ cﬁ% dJ2—7
e /60 f /48 g 3./18 h J72
i /56 i W54 k 312 I 3./68
mZﬁ—S nﬁ(_) oﬂ pﬁif_i
@ S0 - 816 5./ L 1R
3 Simplify completely.
a J7 x 7 b /6 x /6 ¢ J6 x4 d J2 x /6
e 410 x J/10 f A3 %415 g 2 x./8 h /5 x /10
i 3 x.4/6 i A8 x .6 k 220 x /5 L J12 % 43

Fun Spot 6:07 | How do you tell a can of soup from a can of tomatoes? -

Caleulate each correct to 1 decimal place. Match the Jetters with the answers below.

A J14 x J7 B .7 x 12 D 3.5 E 2.6
H J13 x 45 L 4.8 R 2./40 T /6 % J12

R

126 49 99

JLLL L)

81 113 99- 92 49 113

. R oo .
Answers can be found in the Interactive Student CD. 21 © Pearson Education Australia 2004.
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' 6:07 Surds
‘12 430 b 21 c 35 d /33 e J110 £ J30 g /26 h /30

2 2 3.2 b 642 c 3.5 d 3.3 e 2.J15  f 4.3 g 942 h 642
i 2J/14 346 k 6.3 | 6417 m104/3 n 2.5 o 2411 p 545
g 102 r 32J10 s 202 t J10

3a 7 b 6 c 2.6 d 2.3 e 10 £ 3.5 g 4 h 542

i 3.2 i 443 k 10 | 6



